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5 O 7N B H = » At £ X K 4 PEOM Ik fii & ( M/ of )
1 LA =R 55 8 8 Fih 2 BAEH X Z O 2, 240
2 JAKHT=AR 7 4 551 X Z Dt 8, 540
3 JAKHT=AR 8 7 5 M 1 X Z Dt 10, 150
4 JALET=AR 9 8 7 &HH 3 X Z Dt 8,750
5 JALET=AR 11 6 6 FH 2 X Z Dt 6,930
6 JAKET =421 41 3 #H 1 X Z Dt 8,610
7 JASEET=4R 1 3 6 43FH 1 EES:LIES Z DA 14, 840
8 JALET=4R1 37 9FH 1 EEH1X Z Dl 6,510
9 ALHT=AR1 7 5 0 F#H 3 EEH1X Z Dl 6, 160
10 JALET=4R1 6 1 OFH 1L RHESES Z Dt 15,190
11 AEET=AR 156 3FEM2., 156 43K 2 EEH1X Z Dl 8, 890
12 JAKLHT=4R1 5 2 8FH#H 1 RHESES Z Dt 16, 030
13 JALET =421 0 8 8 & 1 EEH1X Z Dl 8,750
14 ALET=AR 1 6 5 4 FH 2 EEH1X Z Dl 10, 500
15 JAKLHT=4R1 6 2 5&H 1 EEH1X Z Dl 8, 890
16 JALIT=4R4 9 2 51 RHESiES Z DAt 15, 820
17 LI =4R 4 7 S Fl 1 X Z D 8,470
18 LA =4R 3 6 1 M RHESiES Z DAt 18, 970
19 @) LA =4AR 3 4 9 M1 FASE X Z Dl 21, 280
20 JASCIT =48 3 1 9 & fEEMmX Z D 9,310
21 JAKET =43 0 5 & H 2 RHESiES Z DAt 18, 550
22 JALET=4R1 8 6 0 &M X Z D 7,280
23 JULIT=AR1 5 9 1 X Z D 8,470
24 LR =44 5 1 5 %M1 X Z DA, 8, 960
25 JAKHT =44 8 3 7&HMA4 FEEHKX Z 0t 7,910
26 LR =44 7 2 6 FhL S X Z DA, 4,410
27 JAKHT =44 9 4 4 &M 2 FEEHKX Z Dt 7,910
28 LT =AR 6 8 Fih 1 X Z DA, 9,030
29 JACHT=AR 7 0 FHi 4 FEEHMKX Z 0t 8, 120
30 ALHT =R 1 9 4 84 PEZE X Z DA, 16, 870




x5 O 7N B H M D At £ X K 4 PEOM Ik fii & ( M/ of )
31 JASEIT RN 6 1 4 4 Fhh 2 AL X Z O 4, 130
32 JAKCHTRAR 2 4 8 9 &M 2 X Z DAl 7,630
33 JAKET RASR 2 4 8 4 1 P2 X Z Dt 17,710
34 JUCHT KA1 35 17k, 135 23F M, 1 35 33FKH FEHX Z Dt 8, 260
35 LRI RS2 2 4 0FH, 2 2 3 9FH [HES:IES Z Dl 18, 270
36 JALET RARSE 2 2 8 4 Fith X Z DAl 8,470
37 J\LET RASSE 2 4 4 5 Fh X Z DAl 8, 260
38 JAKETRAR 2 2 2 S i 1 FEZE X Z Dt 15, 960
39 J\SCHT RS 1 2 2 il FEEMX Z O 7,070
40 JASCHT R 2 6 3 7H M2 0 HESES Z Dt 14, 840
41 J\SCHT RS 2 7 8 Tt X Z O 8,610
42 JACET RSP 1 13 1 5F# 1 EEH1X Z Dl 8, 890
43 J\SCHT KRB 7 5 7 il X Z O 5, 040
44 AT RARE S 4 4 Fhh 2 EEH1X Z Dl 7,280
45 J\SCHT R 5 1 4 F il X Z O 9, 240
46 KT R 7 7 8 6 KM 5 EEH1X Z Dl 6, 160
47 KT KRR 7 9 4 2K 2 BAEHX Z Dl 4,130
48 LI R 7 6 7 3K M S X Z D 5, 740
49 JASEET R4 3 2 6 FH2 4 FEEMX Z D 3,430
50 JASEHT R4 4 2 0FH1 4 FEEMX Z D 2,940
51 JASCHT R4 5 2 1 FHh 2 FEEMX Z D 6,370
52 LRI KRS 7 6 4 7 FH4 BAEHX Z D 3,710
53 JSERT RS 7 6 1 5 &1 i X Z Dt 3, 360
54 JSCHT RS 8 2 5 6 FHh i X Z Dt 4, 480
55 JASCHT RS 7 1 7 8 Feh T X Z Dl 2,520
56 JASERT KRB 5 4 7 9 T HOE X Z D 1, 330
57 J\ASLETHESZ 1 4 5 %M HE X Z D 1, 190
58 JALHTHSST 1 8 4 1 Fi 1 BV X Z DAt 2, 450
59 JASKETHENZ 2 0 2 1 %KM EEMX Z Ol 4, 690
60 JULHTHEST 2 0 8 0 F i BV X Z DA 3,500




x5 % 7N ! H T Zés X K 4 PEOM Ik fii & ( M/ of )
61 JASEHTHESZ 2 0 5 8 Fih X Z D 5, 390
62 JALHTIRAT 6 7 8 Fi 1 ARV X Z DAl 2,870
63 JASCHTIRST 2 0 1 Fe i EHHX Dl 3, 640
64 JASCETH 22 4 9 3FH 3 ARV X Z DAl 3,500
65 JASLETH 23 3 7 9FH 3 X Z DAl 4,900
66 J\KET R 282 1 4 4 Fih ARV X Z DAl 3,640
67 JASERTHZHF2 3 0 3 %2 BAEH X Z O 2,520
68 J\SCHTH 282 7 2 0 Fh BAEH X Z O 3, 150
69 JASLETH 23 3 7 2% 2 X Z DAl 3,710
70 JASCHITHR 2981 6 8 2 KMl EE#MmX Z Dfh 4,130
71 JASCHITFR 2981 5 4 7 3FH X Z DAt 2, 100
72 JAKHT 2983 2 9 9K 2 BAEHX Z Dt 1,890
73 JALRTRTE 2 0 9 Fih LI HX Z Dt 2, 100
74 JALHTRES 5 0 %M 1 X Z DAl 2, 240
75 IALETRE 2 6 6 4 Fh BAEHX Z DAt 1,610
76 JALHTRE 2 6 2 8 K FEX Z O 4,130
77 JAULHTRE 2 5 9 0FH X Z Dl 2, 660
78 LT RE 2 6 2 2 Fih X F D 3,500
79 LRI RTE 8 7 5 & L HX Z D 2, 100
80 JALHTRE 2 1 5 554 ARV X Z D 2,170
81 ASERTRTE 9 9 9 Fih L HX Z D 2, 240




